Subject: Question
Posted by flyingfox on Mon, 30 May 2005 19:28:08 GMT

View Forum Message <> Reply to Message

Remember, the old 3 SBH trick gets past 6 mines easily by the SBH taking turns to trip them. This
gives each SBH minimal damage.

Page 1 of 1 ---- Generated from Command and Conquer: Renegade Official Foruns


http://renegadeforums.com/index.php?t=usrinfo&id=127
http://renegadeforums.com/index.php?t=rview&th=15170&goto=157494#msg_157494
http://renegadeforums.com/index.php?t=post&reply_to=157494
http://renegadeforums.com/index.php

